
 

ChaptersHomework Answer key
48 Give the electronic configuration of each of

the following
a C 15252Pa
b I 15252,26353ps

c V 15252106353,06453dB

d Sb 152546353,264531 4p6554d 5ps

e Sm 15252106353,445320415554d 5p6654ft

51 what additional info do we need to answer

the question which ion has the electronic

configuration 15252136353,06

Specifically we need to know the chargem
3 3T 3 3

15252,763535J Ga 15252,763535J P
2 zt 2 z1525 6353,5 Ca 1525 6353,5 5

t
15252176353,5J K 15252,76353Pa CT



54 Give the electronic configuration of the following
ions

3
a of3 15252,4

b Cast 15252176353,26ft

c s 15252,3353ps J

d Cs 15252,835464532041265542105ps

e Cr 15252,06353,0645322

f Gd't 5252106353,064532104655yd 05,366541
4

56 which atom has the electronconfiguration
15252106353,0632745
Co



57 which ion with a t 1 charge has the electronic

configuration 15252,3353ps3d 454pie
Which ion with a 2 Charge has the same

configuration

15252,33531063210454ps Kr

15252,33531063210454ps Se
Z

58 which of the following atoms contain only 3
valence e Li B N F Ne

onlyGroup VIA B

59 which of the following has two unpairedelectrons

it tr t
ZS3ns 35

it tr tr th th tr I I tr
Jp Jp 2p
tr Tt I

ZSZs ZS
4h yr It
is Ts Is

Mg Si S

a mg d bothmg S

b si

c s
Si



60 which atom would be expected to have a half
filled Gp subshell halffilled

Bi Bismuth e 6552 Gp3

61 which atom would be expected to have a half

filled 4S subshell halffilled
K Potassium ART4S

4 Write the electronic configurations for the
followingatoms or tons

a Best fogy
3T

b O is2252pA

c Cpt 15252,06353ps
Bt

d Catt 15252,26353Pa
Zt

e Ti 15252126353,2645322



87 using theperiodictable classify each of the following
elements as a metal or a nonmetal and then
further classify each as a main group element
transitionmetal or inner transition metal

a Uranium U metal Transition metal

b Bromine Br nonmetal main group
c strontium Sr metal main group

d Neon ale nonmetal main group

e Gold Au metal Transition metal

f Americium Am metal InnerTransitionMetal

g Rhodium Rh metal Transitionmetal

h sulfur S nonmetal main group

i Carbon C nonmetal main group

5 Potassium K metal main group



89 Using theperiodic table identify the lightestmember
of each of the followinggroups

a Nobel Gases Helium He

b Alkaline Earth Metals Berylium Be

c Alkali Metals Hydrogen It

d Chalcogens This is the first time I've seen this
name in 20years I've Learned Something
new This is group 6A

Oxygen O



91 Use theperiodictable to give the name and symbol
for each of the following elements

a The nobelgas in the same period
as germanium

Krypton Kr

b The alkaline earthmetal in the sameperiod as Selenium

Calcium Ca
c Thehalogen in the sameperiod as lithium

Neon ale

d The chalcogen in the sameperiod as cadmium

Tellurium Te



93 write a symbol for each of thefollowing neutral
isotopes Include the atomic number and mass number
for each

a The alkali metal with Kees and a mass number
of 23 23Na 11protons Na

II

b The nobelgas element with 75 neutrons in its
nucleus

and 54 electrons in the neutral atom
129 neutral e Pt
gyXe 54e 54pt Xe

C The isotope with 33p and 40 neutrons in
its nucleus

3733As 33pt As

d The alkaline earth metal with 88electrons and

138 neutrons

226,2A 885 88pt Ra
88



95J using thePeriodicTable predictwhether the
followingChlorides are ionic or covalent

Lookfor themetals Metal ionic

K.CI Ionic

Haz Covalent

Icl Covalent

Mgck Ionic

PCs Covalent

CCly Covalent



97 For each of the followingcompounds state whether
it is ionic or covalent If it is ionic write the

Symbols for the tons involved

a NFz Covalent

b Bao Ionic Bast 02
Barium oxide

c NH zCOz Ionic NHyt COE
ammonium carbonate

d Sr HzPQDz Ionic Sr HzPOy
strontium dihydrogenphosphate

e IBr Covalent

f Nazo Ionic Nat 02
sodium oxide



99 For each of the following pairs of ions write
the symbol for the formula of the compoundthey
will form

a cats ca Cas

b NHI SOE NHuffsouf NADEQ
NHyt
Zt 2

c Apt Br Apt Br Alborz

s
d Nat HPOF t

Naa P0F NazHPa

21 2

e mga POI mga pouf
Boys

M93PQDz



100 For each of the following pairs of ions write
the symbol for the formula of the compoundthey
will form

2

a Kt 0 K O Kao

t 3b NHI pop NHy Poy NHy zPOy
NHy
NH

C Al3T 02
3T 3

A1st 02
A1st Oz

g

AKG

d Nat coz tNa
Nat
COE
7

NazCg

e Bait Poop Bait pop

iI
Base


